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Preblem I [Iﬂn.-l"'u}
Chonse the BES T answer far each of the following questinns.
1. A contingent liability which is normally accrued is

a, notes receivable discounted.

b. sccommuodation endorsements on customer nofes.

¢, additional compensation that may be payablc on a dispute now being arbitrated.

d. estimated claims under a service warranty on new products sold.

2. In & troubled debt restructuring in which the debt is continued with modified terms and
the carrying amount of the debt is less than the total future cash flows,

a. an extraordinary gain should he recngnized by the debtor.

h. a gain should he recognized by the debtor,

¢. a new effective interest rate must be compuied.

d. no interest expense of revenue should be recognized in the future,

3, When using dollar-value LIFO, if the incremental fayer was added last year, it should
be multiplied by

a. last year's cost ratio and this vear's index.

h. this year's cost ratio and this year's index.

c. last year's cost ratio and last year's index.

d. this vear's cost ratio and last year's index.

4. When a company hnlds between 20% and 50% of the cutstanding stock of an investee,
which of the following statements applies?

a, The investor should always use the eyuity method to account for its investment.

b, The investor should use the equity method to account for its investment unless
circumstances indicate that it 13 unable to exereise "significant influence” over the
imnvestee,

¢, The investor must use the fair value method unless it can clearly demaonstrate the
ability to exercise "significant influence” over the investee.

d. The investor shonld always use the fair value method to account for its investment,

Prablem II (20%%)

The Lakeside Boat Company's bank statement for the month of Septcmber showed a
balance per bank of $7,000, The company's Cash account in the general ledger had a
balance of $5,459 at September 30, Other information is as follows:

(1) Cash receipts for September 30 recorded on the company's books were 5,200 but this
amount does not appear on the bank statement.

(2) The bank statement shows a debit memorandum for $40 for check printing charges.
(3) Check No. 119 payable to Lynch Company was recorded in the cash payments journal
and cleared the bank tor $24% A review of the accounts pavable subsidiary ledger shows
a $36 credit halance in the account of Lynch Company and that the payment to them
should have been for $284.

(4) The total amount of checks still putstanding at September 3 amounted to £6.000,

(5) Check Nu. 138 was correctly written and paid by the bank for $409. The cash
payment journal reflects an entry for Check No. 138 ae a debit to Acenunts Payable and a
credit to Cash in Bank for $490,

{6} The bank returned an NSF check from a customer for $360. ‘ :
(7) The bank included a credit memorandum for $1,260 which represents collection of a
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customer’s note by the bank for the company; principal amount of the note was $1,200
and interest was $60. Interest has not been acerued,

INSTRUCTIONS

Prepare a bank reconeiliation to reconcile the bank and the book balances to the
corrected balance for the [Lakeside Hoat Company at September 30,

Problem III (20 %)

lowa Corporation has net assets at December 31, 1999 valued at $5,000,000. Its nct
income for the past several years has been stable, averaging $1,125,000 per year.

Normal rate of refurn in this industry is 16%,

INSTRUCTIONS .

(a) Compute the amounit of lowa Corporation's theoretical goodwill. Assume that excess
earnings will continue indefinitely and are 1o be discounted at 20%,

(b} Dakota, [nc. purchases Towa Corporation {or $6,750,000. Assuming that specific plﬂnt
assets of lowa Corporation are revalued upward by Dakota, (o the amounl of $325.000,
how much goodwill would be recorded by Dakota, Ine.?  Treat part [b} independently of
part (a).

Problem 1Y {20 %)

The Hanson Company reporls goods available for sale at cost, $105,000. Beginning
lmr:uturjr at retail is $50,000 and goods purchased during the period at retail were
$100,000. Sales for the period amounted to $90,000,

INSTRUCTIONS

Determine the estimated cost of the ending inventory using the retail inventory method.

Problem V (20%)

Presented below is the income statement of Wicklaus, Inc.:
Sales $475,000
Cost ol goods sold _2R(.000
Cross profit $195,000
Operating expenses _£9,000
Income before income taxes 106,000
[ncome taxes 42,000
Net income % 6d DO

I ——— e =
e —— 1]

In addition, the following information related 1o net CHANGES in working capital s

presented.
_Debir _Credit
Cash $ 15,000
Trade accounts receivable (net) 8 400
Inventories $16,200
Salaries payable (vperating) 6,000
Trade accounts payable 11,000
Income tay payahle 2,500

The company also indicates that depreciation expense for the year was $14,200 and that
the deferred 1ax liability account increased $3,200.

INSTRUCTIONS
Prepare a schedule computing the net cash flow from operating activities that would be

shown on a statement of cash flows, (using the direct method}
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